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sovereignty
[sGvronti, Al=ZE|]

BB BB 14 25

(N E=>F:!
> TR0l A mHHHSE 22 sovereigntyS WOt HES AAIRHCE

A journalist pointed out that the country has progressed from
oppression to sovereignty. ot ME2AEE= T L2 SXIH AYC=
B LMD XX [15 BE1]

closely

[klGusli, 2=222]]

19 &5

@ Lsh, HhY,
> Ol0|= Z& AHOIHE|X| 47| 5l HOI0i|A| closely 201 UULCE.

Feelings are closely associated with music. Z&ES2 St 2H
S| AARHE|Of QUL [18' A129]

borderland
[b3rdarlend, gC=]

E B A =] 1 28

© XY
> = borderland0fl %4710l ZO{A Q12 =72 HoiZ 4= UL
The borderlands between America and Mexico signify a long

history of one sovereignty. 0=t HA|Z A0|S] FAXY2 71 X
O HAIE QlO|BiLt. [18' A29]

prefigure
[prizfigjer, Zalm]

ERERME] 1 2w

O oSsict
> O= AC2 K| &20| Z0H2 A0[2t prefigureict.
Mexican desert blended into southeastern American desert

with no prefiguring of nationalism. WA|Z A2 HE5%2| 0|2 =
30001l CHBH 0| Z012t 0= 5] 2l0] ATt [18' A29]

s quintessential
[kwintosénfol, ZEMA]
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synthesize O SAsict Eatsict

[sinOisaiz, AUAIOI=]

> Salo| HEXP! s2ke ol 25Tt synthesizeslo] M2 2242 BISR(0],

Sound waves can be generated electronically by synthesizing
the different components of the sound waves. 2ItS2 HAECS

2 SIo| [12 1A MEES SIABIO 2 AIAIE 4 OIC} [08° X|ak9]
18 =7

magnate @ 7==Ze
[m#&gneit, tHaLI0/E]

> 287|9| magnate?! 3= T X|X0| HAIS FK|SKIHC,

He was once a well-known steel magnate. = S AT H
Y H20I2{LH. [18' M=29]

E B AZ] 1 =w

devout O =A5t
[divaut, CIHIRE]

| am a devout conservative. L= S48t HFOIX0|Ct [AE]

E[= B A= 1 25

pavement @ =, ZX E2 B sidewalk
[péiVIIlQIlt, Ho|EHE] > RSxP} QEZ5104 pavemnent® SEISIKCE

There are leaves fallen on the pavement. Q=0 HoZ LIZUS
O] AXA. [H=]
18 &7

bedrock @ 7|8t
[bedrak, #l=2!]

> 782 AZS bedrock@Z BF QFAIX{O|CE,

Feelings of pain or pleasure are the bedrock of our minds.
DEO0|Lf 32te] LAS2 2| Fil £2| 7|2t0|Ct, [18" M29]
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myrlad 25t B numerous, countless
[miriad, OI2I0i=] > U] A2 myriaddt 7hsAo2 715 Xt QlCH

| just assume you're guilty for a myriad of reasons. L= Z210]
45t 0|R2 RE2H T FHIICE [ME]
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humming
[hamin, 51¥]

EIRBPAE 1 =5

6 &els; Rl B2
> WAK= @ WAl humming A2| IF20]| =0l 2SE + URUCE

The rooms are crammed with humming printer. 1 &2 &
2= QM7 |2 7ISHCE [ME]

requiem
[rékwiom, 2iI7Y]

EIRBAE] 1 =5

> DREEE= T2 AMHE ISt requiems Z3UCE

There are a humming or a mournful requiem when sorrow
takes over. R L= £22= FFY OfES Z2H0| ULt [LE]

side-by-side
[said bai said, AlO|= HtO| A
0l=]

EENAE] 1 =5

6 Lizks| U=
> WS0[S0| side—by—side Al UKt 7t 2K 728 2~ UALCL

The home language might persist side-by-side with the
language of the invaders. At=2| Q0= HUXSL| 210101 Lito| X|
&2 2 UL 18 A29]

5 interrelate
[intorileit, 2IEf2[20|E]

EENAE] 1 &5
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© wus Eg 2t
> 22Iet £54t 7HAS interrelates|ch

All those problems interrelate on each other. 0| Z& ZHS2 A
2 UFSH S 287 QUL [AIE]

climatological
[klaimotolddsikal, 2atoloi
siatiz]

© 7155txp]
> climatological 20N X|F-2H3to| HOIS EMSIAICE

A graph of monthly cIimatoIogicaI data shows the warmest

times. 24 7|$5N0I X2 I 0= TPy MEESt IS BOECH [17 X147]
18 ZH|
offshoot © =X, 71%]

[offut, 2=%]
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> 1 Bik= 71518 §t offshootO|Ct,

White matter consists of specialized cells and their offshoots.
AL MRS MESH US| 2X|(X|H)S2 0|R0IXICE (17 XI47]
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conduit
[kdnduit, 7HF0IE]

B FM] ] 121

o Az, 2

> 7|&Xh= conduit0] SOt 20| AR ASS LACE

Regardless of the size of our bank accounts, suffering
becomes a conduit to heroism. ?2/2| 28 Aziet= 40| 1S
2 FIFhe| HZHO| ET}, 17 =719]

altruism

[&ltruziizm, LEZOIE]
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@ O[E}F2]

> ERIZ 2lohk= altruisme S2OIAIME 27 LIEFHT

0fol

| read an interesting thought experiment on altruism. L=
0|22 O|ERROJ0] 2H5F AL MBS SRUCE [ME]

» collide

[kaldid, Zztol=]

E[= B RAZ] 1 2w

@ E=E35IC}H E] conflict, combat, clash
> & 20| collidesto 22 2HO0| EHUSACE

=2 UL [NE

of

Two planes almost collide. & H[&7|= 72

embroider
[imbridor, ¥=z0[]

24 EX
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> R Es FoI2 =2 A0 2l2{gh FLIZ embroiderSHUCE

Ol

ct

She embroidered the cushion cover with a butterfly. 4= 3
A0l LH| 22| =5 SUCE [ME]

flatten

[fl&tn, EE]

74 SR

O EEfEHxICH
> $/0j7) RS U2 £ flattens}H| ASAC

It becomes bulged at the equator and flattened at the poles.
OAS XM ZOR [ 225K U= BO2E= HEGIZICE [16' AM29)]

dominant
[ddminont, ciolHE]

© st
> I=ZALIA XIXISS Gi=0] OFEICH dominantsiHl LI

A swing vote may go to either of the two dominant political
parties. £3H= F 712 Mg Y § 0L =F0PAIL E 5 U= FHO

Ct, [18 M27]
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> &= 11 22 010|Z belittleZHCt7F 2 2 CHACE
Ag EEI K| B0, [ME]

[bilitl, %2IE]
| do not want to belittle that. L= 14g

ER B RME] 1= 2w

» gimmick @ 2=
T al

[gimik, 71=) > AITHE £017] 9I5H B gimmicke STt

The tax cut is widely disparaged by senators from both parties

= MUS F HEO S Qdl oiltt =240[2t

as a budget gimmick. Al
1 HoHEACE [18' M27]

18 Ex
red tape @ ST S0
[red teip, = HoI=] > red tapeS QUONT XIS AICKE LI BI%C,
Many blame Britain’s decline on too much red tape. =2 A
5t SA| TH20[24T W2IBICE, [18' A7)

Se 939 232 URUE 2T
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@ (UX| 2 F2I5 F9l) 2 Al
S2OLt J= 62O white sheepOIRAL,

white sheep
[hwait §izp, A0l ]

[

> 2 7150| AlgRe
He was always the white sheep in his class. J= 19| afg01M

ShY AT AFHOIUC. [18' M27]

181 &)
black sheep @ =342
v =ay -
[bleck fizp, =24 2] > 7H= Zojch EHIE Y71 AL 7159 black sheepO|21Ct,
He is the black sheep of the family. J= 7152 Z51742|0|C, [AF]
(]
congestion @ =% 28
& a N =
[kondséstfon, 2HiA%] > I congestion©& 2a|= H[3H7|S EHCH
The trigger for the aggressive driver is usually traffic congestion.
07l & 2F0IC}. [18' M29]
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» shorthand
[fortheend, sE#=]

18 &7

@ 24z, 27|

> 7[Xh= Qe LHEE o= Eof| shorthand 2 ZH3HCE

Young people like us use shorthand language a lot. 22X
H2 AIHS2 Aoz E A0S Ol ALttt [18" M27]

take a load off

one’s mind

[Hol3 0f 2= om 2= niel=]

FEN W[z 1 &5

oigel Fg ot

> J4= take a load off her mind8t X Z7[0f] HOt5| QIHC}

It will take a load off your mind. 0|2 Z412| 0t22 g & ZA0|Ct.
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take a nosedive

[Elo1= of =R=Clo|E]

B =M [A[Z] 1 25

Z2I5iCt plunge, plummet

> EEAL71240| take a nosediveStAt

SIRATLO7F SAUCE

Americans already lost millions of dollars when the stock
market took a nosedive. O|=252 F4

RS U [127 A=)

AIZO| Z2fat 1 0]a] ot

tell on

[Eﬂ 9_]
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El[X][M[A[Z] 14 =w

FekS olx|ct
>

Ao

QUmTIIE A 72| MEHO tell ondIRALC

The current situation began to tell on her. S 422 JUEH0A &
&2 OIR|7| AIZFRHLCY, [01" =719]

the name of
the game
(o Ul o8 of A]

B [N EREEST

2y 25

> = ARA9| the name of the gameS 27| LI5l EEUCE

The name of the game should be confidence-mending.
=E2 A 2|=0] A00F Sttt [02' =717]

s turn a blind
eye to

[E of 22l= ojo] £]

~g & 2 ANSict

> H|2|Z turn a blind eye togt Si7}2 LSS QIQIT

Teachers are turning a blind eye to pupils smoking at school.
Q= SHIES BT 2 2 &511 ULk [10° MS9)

TAISS SIOM gt 1)
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turn one’s
nose up

[8 9= mex ]

BRI 121

EIME ST, AHHESICH
o= =00

> Lt M2k turn my nose upgt AE0i7| 0|RE SAC

L
oo

You always turn your nose up at anything | want to do. =
o L7t 5t A2 O] R0IE EIME =L [13 2717]

r

up in the air

(& 2 ol o]

B RAAIME] 1 2w

S5Halst o|™el uncertain, vague, unsure

> ZEA W= up in the air0|Ck,

Everything’s up in the air. Z& AS0| S=HAGICE [12° 2719]

vice versa
EINESEN|

3|50 IR

HiCH2
> =2] 7kX|7t AE5HH vice versa S747F SIEFSiCt

A wife is husband'’s best friend and vice versa. OtUi= g2l 7}
I E2 FIH0(11 T SR & JEL, [AE]

walking on a
cloud

[ 2 of SaeE]

3|50 EIR

TEHEH=ERVIE

> Al&lol| 8245t 2= walking on the cloudatALCE.

Ol
rlo

She started to feel as if she was walking on a cloud. OFX| 1114
= TE YIE 2= ANMY ZEES LARI| AZREL. [ME]

«» walking on air
(22 2 o]

S35 EIR =

0

s15S o 3AE 7|2 B2
> 1147t 79| T2RRE BOIAL 1= walking on air3iC.

I'm literally walking on air. 2102 & sls2 & AXE 7[20] ECL
[A1F]

walking on
eggshells

[92 2 oaex]

546

=
> DAOI At mhR0f| 1= walking on eggshells 7| 20|ACE,

Talking to their daughters can be like walking on eggshells.

ca
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lose one’s shirt oozo| gt 2 2512 2ot

T2
[2= &= NE] _ L
> 0|2 ZA| ch3& o 22 HEE0] loose their shirtolACt,
Jack invested a lot of money in stocks and lost his shirt. Jack
2 FA0| He =2 FARI FUFO0| EULC. [06" AS9)]

L=

FEEEAE] 1 &5

keep one’s shirt si= uyx) o, waig ox et
on

(2 2= 4e 2]

> O™ MO M= keep his shirt onsti7 |0l 1= MISIXCE

rio

Just keep your shirt on, and you'll get your turn. 1 3= UX|
2210 7|CHa|H G4 X127t 2 Z0|LH. (06" A9

[ELEYS il

28 x|

be on good ~8} E2 AJ0[O|C}, AlO|7 EL}

terms > SMIE2 be on good terms&HX[2t AL 2H|Z 20| ZiC,

[H 2 2 gx]
The new supervisor and the woman are on good terms with
each other. MZ2 22[X[t 1 03E2 MZ Af0|7 Lt [15" 7147]

481 EH)
s be open to ~2| 0fx|7} QIct, ~oil FHeElo] Uct
[H 22 £] _

> 19| AlSH SiE2 oJal| be open toZt AL

They are more open to debate than many scientific theories.
RS2 Y2 WM 0|2SHECH O B2 =80l 7HLE 0 QCh= XS 20ist
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EIEAAE] 12 &

be reckoned ~2 SAJE & = EX)E of7|C}
with

[H] #7ic 9l=]

> = EE51T, E™XOI be reckoned withgt AZ4X0|CE

Actors were the force to be reckoned with in Hollywood. Hi<
S2 LERE0M FAE 2 gl= EME HAHK = FHOIRACE [117 X17]

1 Z7
be struck blind  xjzig ot almisicy

y =
[Hl AE3 22RI=]

F =2 XUX|A SAFst EHof| be struck blind =l 2Tt

A person is struck blind. 0T AFZ0| A[2S | ERUCE [13 BEM]
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be through ~9t BUic, S2 Yt

with A2 5H2a| o] LHE0I0IM be through withHD A2 HZE?

[H] 42 9=] ) i
We are completely through with each other. ?2l= &5 27
7t 5L (08 =717]

21 &7
make ends 201} X|E0| RHS QrEL}
meet

[0z o= p|E]

24 |

> OFF2| H0| 2% make ends meetol?| &S0

Senior citizens have to have savings in the bank or their
olso o3

retirement plans to make ends meet. =QIS2 20| XM=t =0|
UALE 1t XE2| wels S5 2& H20] QL0{0F it [08 =719)]

so make good
[olola =]

EE MM ] 1 &5

M3SICH olgsict, X|7|Ct make it, get on
> 0|t Hak= E3H0fl make goodZHC

Poet James Dickey was one of those people who could make
good on every boast. A2l James Dickey= ZE XtHZ|0A H3&
= U= AIRHIE S o AFHOIRUCE 15" 2717]

make headway

(O1&A|) Liot7 tCH ZITSHCH

[ool2 si=sor] > BAZt £ZE7 make headwayst ULt
The boat was unable to make much headway against the
tide. Ttz S4S A& 712t A2 HO| LIOFZ 47t GIULE [ME]
24 ZR)|
make it O|7{LHCE, ~2 Entsict
through

[ooj2 o #2]

> 0] ZAX2 3|9|0f| A make it through®t 4= 942 70F,

But the truth is, after you successfully make it through this
problem, there will be another problem to face. 2Lt TI&2
L0l SHCZ 0] ZHIE 0|74H S0il, ZIH5H0F & & THE X7t AL2|2t
= 20Tt [16 XIg9]

3¢t &7
make out ololEC}; XILHCH EHAISICEH
(#1012 0f=] o] 0l 24 22 make outaiAL
My grandparents’ wedding picture was so old that | could
barely make out their faces. ZOHHX| LS| Z= ARRIO| St 224
SO0 Li= 59 Y2252 19| Lot = iUt [12' 23i8]
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Look before
you leap.

14 x|

S| 57 21 2zt

Remember to look before you leap. ECfe|= F54 E10 A=A
2 7|all. [a1=]

% Look on the
bright side.

E[= B AZ] 1 2

SIS EERUI)

Look on the bright side. You still look good without colored
hair. 3EXCZ M2fdl. U= FAoHA| L0t (FEs| & 701, [16" Z22]

Look who is
talking.

19 &A

Ab=E H et

You think I am ugly? Look who is talking. W7t & MZICH0? Ak=
I_[‘ DF—I_L-”

May | take your
order?

24 =7

FESIARSHIN?

Here's the menu. May | take your order? Oiw= 07| QgL =
FOIUEUN [(ME]

Me neither.

B =M A[Z] 1 25

L=, (SRS o)

-l can’t stand soap operas these days. & & H5=0[ X[ZA|ZH.
- Me neither. L. [06" =717]

Money makes
the mare go.

1% &

=0 UoH FAE B £ IOt

| think money makes the mare go. L= =0t QOH AME 22 4
QUCHL MZIBICE [AE]

)

«o Mud in your
eye!

ZitH!

A

Let's toast for our family! Mud in your eye! 2| 7t5& /510
HIE SXH 28! [815]
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